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UNIT-I
1. Answer any five of the followings.
CICHTCAT ATEB ATIF T WIS | 1x5=5

a. What is lethal allele?
Lethal allele 35 2
b. Define micro evolution.
Micro evolution A< &I HIS |
c. Whatis ‘golden era of Dinosaurs’ ?
'‘Golden era of Dinosaur3 ?
d. What is chromosomal interference?
Chromosomal interference 35 2
e. Write the probable cause of Devonian extinction ?
Devonian extinction A< ASIT FILV (14|
f.  Write the name of two genes responsible for Drosophila sex determination.
Droeophila sex determination QEWW@[ Eﬁ? gene 9 WY (14|
g. Define geological time scale.
Geological time scale 4 ALEa[ (14|
h. Define K-T extinction.

K-T extinction & AEET (14|



UNIT-I1I

Answer any two questions of the following.

(T (I 3O AT Sea ws | 5%2=10

a. What is coacervate? Describe sympatric speciation with suitable examples.
Coacervate 5?2 SIS SHIRIY X sympatric speciation NG |
2+3=5
b. Differentiate between Darwinism and Neo-Darwinism. What is extra chromosomal

inheritance?

Darwinism 8 Neo Darwinismdd H1(FT @ (74| Extra chromosomal inheritance

5 (3+2=5)
c. Human ABO blood group system is an ideal example of codominance- explain. What

is sex linked inheritance explain with example. (2% +2 ¥%=5)
jieﬁ-0| ABO blood group system HL¢V BcnN codominance H EcinZ-

I FA | ECiglZ- pq sex linked inheritance f& aj AT F41
d. Differentiate test cross and back cross with example. 5

Test cross and back cross HI j-dE fibNLE ¢ellfZ Llz

UNIT-111

Answer any one question.
(T (FICAT IH6 AT S@I WIS | 10x1=10

a. What is anthropogenic extinction? Describe polyploidy with suitable example. How
dosage compensation takes place in Drosophila?

Anthropogenic extinction {3 ? IS BHIZIY IR polyploidy NTCATENT R |
Drosophila g dosage compensation PO R ? (3+4+3)=10

b. Describe evolution of horse. What is gene mapping?

(H19I] evolution {1 91 Gene mapping 2 (8+2)=10
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